
 
 

FORTNIGHTLY TEST SERIES – TEST- IIRF 
 

1. Which of the following characteristics is not related to the federal 
government? 
a. Written Constitution   b. Flexible Constitution 
c. Supremacy of the Constitution d. Independent Judiciary 
gpd;tUk; gz;Gfspy; vJ $l;lhl;rp murhq;fj;Jld; njhlh;GilaJ 
my;y? 

 a. vOjg;gl;l murikg;G   b. nefpo;jF murikg;G 

 c. murikg;gpd; Nkd;ik jd;ik  d. Rje;jpukhd ePjpj;Jiw 
  
2. In the parliamentary form of Government, the members of the 

Council of Ministers are collectively responsible to: 
a. President 
b. The Chairman of the Upper House and the Speaker of the Lower 
House 
c. The Lower House of the Parliament 
d. The Prime Minister 
ehlhSkd;w Kiw murhq;fj;jpy;> mikr;Rf;FOtpd; cWg;gpdh;fs; 
,jw;F $l;Lg; nghWg;ghthh;fs; 
a. FbauRj;jiyth; 
b. Nkyitapd; jiyth; kw;Wk; fPoitapd; rghehafh; 
c. ghuhSkd;wj;jpd; fPoitf;F 
d. gpujk ke;jphp 
 

3. Consider the following features: 
1. All powers vested in the national government 
2. Independent judiciary 
3. Unicameral legislature 
Which of these is/are the features of a federal system of Government? 
a. 1 only  b. 2 and 3 only  c. 2 only  d. 1, 2 and 3 

 gpd;tUk; mk;rq;fis fUj;jpy; nfhs;f 
1. midj;J mjpfhuq;fSk; Njrpa murhq;fj;jplk; cs;sJ 
2. Rje;jpukhd ePjpj;Jiw 
3. Xuit rl;lkd;wk; 



,tw;Ws; vJ / vit $l;lhl;rp murhq;f Kiwapd; mk;rq;fs;? 

a. 1 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;   

c. 2 kl;Lk;   d. 1, 2 kw;Wk; 3 
 

4. Which of the following are features of the Presidential form of 
government? 
1) Single executive. 
2) President and legislators are elected separately. 
3) President is responsible to the legislature. 
4) Dissolution of the lower house. 
Select the correct answer using the code given below. 
a. 1 and 2, only  b. 2 and 3 only  
c. 1, 2, 4 only  d. All of the above 

 gpd;tUtdtw;wpy; [dhjpgjp Ml;rpapd; rpwg;gk;rq;fs; ahit? 
1. xw;iw eph;thfp 
2. [dhjpgjp kw;Wk; rl;lkd;w cWg;gpdh;fs; jdpj;jdpahf 

Njh;e;njLf;fg;gLfpwhh;fs; 
3. [dhjpgjp rl;lkd;wj;jpw;F nghWg;ghthh; 
4. fPoit fiyg;G 
rhpahd tpilia Njh;f 
a. 1 kw;Wk; 2 kl;Lk;  b. 2 kw;Wk; 3 kl;Lk; 
c. 1, 2, 4 kl;Lk;   d. ,it midj;Jk; 

 
5. Which of the following is/are not a feature of the Parliamentary form 

of government? 
1) Stable Government  
2) Wide Representation 
3) Continuity of Policies  
4) Harmony between Legislature and executive 
a. 1 and 2, only b. 1 and 3 only c. 2 and 4 only d. All of the above 
gpd;tUtdtw;Ws; vJ / vit ehlhSkd;w Kiw murhq;fj;jpd; 
rpwg;gk;rk; my;y? 
1. epiyahd muR    
2. gue;j gpujpepjpj;Jtk; 
3. nfhs;iffspy; njhlh;r;rp   
4. rl;lkd;wk; kw;Wk; nrayhl;rp ,ilNaahd ey;ypzf;fk; 

 a. 1 kw;Wk; 2 kl;Lk;   b. 1 kw;Wk; 3 kl;Lk; 
 c. 2 kw;Wk; 4 kl;Lk;   d. ,it midj;Jk; 

 
6. The government of India created a new category of language called 

classical language in the year ______ 



a. 2002  b. 2006  c. 2008  d. 2004 
,e;jpa murhq;fk; nrk;nkhop vd;w Gjpa nkhop tifg;ghl;il 
cUthf;fpa Mz;L _____. 
a. 2002  b. 2006  c. 2008  d. 2004 

 
7. Article 21A of the constitution deals with 

a. Right to freedom    b. Right to life 
c. Right to elementary education d. Right to property 
murpayikg;G ~uj;J 21A vjDld; njhlh;GilaJ. 

a. Rje;jpu chpik    b. tho;tjw;fhd chpik  

c. Muk;gf;fy;tp ngWk; chpik  d. nrhj;Jhpik    
 
8. Choose the correct statements on Salt Satyagraha Movement 

1. On 12th March 1930 Gandhi set out from Sabarmathi Ashram with 
78 followers 

2. He reached Dandi on 5th April, 1930 
3. In Tamil Nadu C. Rajaji led a Similar Salt March from 

Tiruchirappalli to Vedaranyam 
4. In the North West frontier Khan Abdul Ghaffar Khan led the 

Movement 
a. 1, 2 and 3 b. 1, 3 and 4 c. 1 and 3  d. All are correct 
cg;G rj;jpahfpuf ,af;fk; njhlh;ghd rhpahd thf;fpaq;fisj; Njh;T 
nra;f. 
1. 12 khh;r; 1930y; fhe;jp rgh;kjp Mrpukj;jpy; ,Ue;J 78 

Nghuhl;lthjpfSld; Gwg;gl;lhh;. 
2. mth; 5 Vg;uy; 1930y; jz;bia nrd;wile;jhh;. 
3. ,NjNghy jkpo;ehl;bd; rhh;ghf rp.uh[h[p jpUr;rpuhg;gs;sp Kjy; 

Ntjhuz;ak; tiu cg;G rj;ahfpufk; nra;jhh;. 
4. tlNkw;F ,e;jpahtpy; fhd; mg;Jy; fghh;fhd; ,af;fj;ij jiyik 

Vw;whh;. 
a. 1> 2 kw;Wk; 3   b. 1> 3 kw;Wk; 4 
c. 1 kw;Wk; 3   d. midj;Jk; rhp 

 
9. Gopala Krishna Gokhale was the political Guru of 

a. Jawaharlal Lal Nehru   b. Subash Chandra Bose 
c. Mahatma Gandhi    d. Sardar Vallabhai Patel 
Nfhghy fpU~;z NfhfNy ahUila murpay; FU 
a. [t`h;yhy; NeU    b. Rgh~; re;jpu Ngh]; 

c. kfhj;kh fhe;jp    d. rh;jhh; ty;ygha; gNly;  
10. The Swarajya Party was formed in  

a. 1923  b. 1921  c. 1926  d. 1925 



Rauh[;[paf;fl;rp vg;NghJ cUthf;fg;gl;lJ 
a. 1923  b. 1921  c. 1926  d. 1925 
 

11. The Jallianwala Bagh Massacre took place on 
a. 13 April 1919   b. 11 April 1919 
c. 14 April 1919   d. 16 April 1919 
[hypad; thyhghf; gLnfhiy eilngw;w ehs;  
a. 13 Vg;uy; 1919  b. 11 Vg;uy; 1919 
c. 14 Vg;uy; 1919  d. 16 Vg;uy; 1919 

 
12. Match the following 

A. Swarajya Party    1. 1924 
B. Hindustan Republican Army  2. 1927 
C. Simon Commission   3. 1929 
D. Lahore Congress    4. 1923 
 A B C D 
a. 4 1 3 2 
b. 4 1 2 3 
c. 1 3 4 2 
d.  4 3 2 1 
nghUj;Jf. 
A. Rauh[;af;fl;rp    1. 1924 

B. ,e;J];jhd; uhZtf; FbauR  2. 1927 

C. irkd; FO     3. 1929 

D. yh$h; khehL     4. 1923 
A B C D 

a. 4 1 3 2 
b. 4 1 2 3 
c. 1 3 4 2 
d.  4 3 2 1 

 
13. Match the following 

A. Mount Batten Plan    1. 1940 
B. Cripps Mission    2. 1947 
C. Royal Indian Naval Mutiny  3. 1942 
D. August Offer     4. 1946 
 
 A B C D 
a. 2 3 1 4 



b. 2 1 3 4 
c. 2 3 4 1 
d. 2 4 1 3 
nghUj;Jf. 
A. nksz;l; Ngl;ld; jpl;lk;   1. 1940 

B. fphpg;]; jpl;lk;     2. 1947 

C. uhay; ,e;jpaf; flw;gilf; fyfk;  3. 1942 

D. Mf];L nfhil     4. 2 
A B C D 

a. 2 3 1 4 
b. 2 1 3 4 
c. 2 3 4 1 
d. 2 4 1 3 

 
14. Who among the following is not a Moderates leader? 

a. M.G. Ranade   b. Pherozeshah Mehta 
c. Lala Lajpat Rai  d. R.C. Dutt 
fPo;f;fz;lth;fspy; ahh; kpjthjpfspd; jiyth; ,y;iy? 
a. vk;.[p. uhdNl   b. ngNuh~h Nkj;jh 

c. yhyh y[gjpuha;  d. R.C. jj; 
 
15. The Swadeshi Movement Boycott Resolution was passed in Calcutta 

city hall on _______ 
a. August 7, 1905   b. August 5, 1905 
c. August 1, 1905   d. August 15, 1905 
RNjrp ,af;fj;jpd; Gwf;fzpg;Gj; jPh;khdk; fy;fj;jh efu muq;fpy; 
vg;NghJ ,aw;wg;gl;lJ? 
a. Mf];L 7> 1905   b. Mf];L 5> 1905 

c. Mf];L 1> 1905   d. Mf];L 15> 1905 

 
16. The Muslim League was Founded by Aga Khan on 

a. November 30, 1906   b. December 30, 1906 
c. January 1, 1906   d. October 2, 1906 
K];yPk;yPf; mfhfhd; mth;fshy; Njhw;Wtpf;fg;gl;l ehs; _____. 
a. etk;gh; 30> 1906   b. brk;gh; 30> 1906 
c. [dthp 1> 1906   d. mf;Nlhgh; 2> 1906 

 
17. The Surat Session of INC was presided by 

a. Gopala Krishna Gokhale   b. Bal Gangadhar Tilak 



c. Rash Behari Ghosh   d. M.G. Ranade 
,e;jpa Njrpaf; fhq;fpu]pd; #uj; khehl;Lf;Fj; jiyik Vw;wth; 
a. Nfhghy fpU~;z NfhfNy  b. ghy fq;fhjh; jpyfh; 
c. uh]; gpfhhp Nfh];    d. vk;.[p. uhdNl 
 

18. Tilak started his Indian Home Rule League in 
a. April, 1916  b. April, 1914   
c. April, 1919  d. April, 1918 
jpyfh; ,e;jpad; N`hk; &y; yPf; vd;w mikg;igj; Jtq;fpa Mz;L 
_____. 
a. Vg;uy; 1916  b. Vg;uy; 1914   

c. Vg;uy; 1919  d. Vg;uy; 1918 
 
19. Who was popularly termed as Father of Indian Unrest? 

a. Gopala Krishna Gokhale  b. Lala Rajpat Rai 
c. Bipin Chandra Pal   d. Bala Gangadhar Tilak 
“,e;jpa mikjpapd;ikapd;ikapd; je;ij” vd gpugykhf 
mwpag;gl;lth; ahh;? 
a. Nfhghy fpU~;z NfhfNy b. yhyh y[gjp uha; 
c. gpgpd; re;jpu ghy;   d. ghy fq;fhju jpyf; 
 

20. The Chauri Chaura incident took place an 
a. February 5, 1922   b. February 6th, 1922 
c. February 7, 1922   d. February 8, 1922 
nrshp nrsuh rk;gtk; eilngw;w ehs; 
a. gpg;uthp 5> 1922   b. gpg;uthp 6> 1922 
c. gpg;uthp 7> 1922   d. gpg;uthp 8> 1922 

 
21. Find out the incorrect statement 

1. Maximum number of INC sessions were held at Calcutta. 
2. In 1914 a special INC session was held at Madras. 
3. In the year 1933 there was no INC secession. 
4. Abul Kalam Azad was the youngest INC president 
a.1, 3 & 4 are incorrect  b. 1 & 4 are incorrect  
c. 2 & 3 are incorrect  d. None of these 
 
 
 
fPo;f;fz;ltw;wpy; jtwhd thf;fpaq;fisf; fz;lwp 
1. kpf mjpfkhd ,e;jpa Njrpa fhq;fpu]; khehL eilngw;w ,lk; 

fy;fj;jh. 



2. 1914y; rpwg;G ,e;jpa Njrpa fhq;fpu]; khehL nrd;idapy; 
eilngw;wJ. 

3. 1933 ve;jnthU fhq;fpu]; khehLk; eilngwtpy;iy 
4. mGy; fyhk; Mrhj; ,e;jpa Njrpaf;fhq;fpu]; khehl;bd; ,sk; 

jiyth;. 
a. 1> 3 & 4 jtwhdJ  b. 1 & 4 jtwhdJ 

c. 2 & 3 jtwhdJ   d. VJkpy;iy 
 
22. Who said that “The swadeshi movement is not only for the 

improvement of our industry but for an all round enhancement of our 
national life.”? 
a. G. Subramaniya Iyer  b. Gopala Krishna Gokhale 
c. M.G. Ranade    d. Mahatma Gandhi  
“RNjrp ,af;fk; vd;gJ njhopw;rhiyfspd; Kd;Ndw;wj;jpw;F kl;Lk; 

cUthf;fg;gl;ljy;y; ekJ Njrpa tho;f;ifapd; xU KOikahd 

ke;jpuk;” - ,J ahUila $w;W? 

a. [p. Rg;ukzpa Iah;  b. Nfhghy fpU~;z NfhfNy 

c. vk.[p. uhdNl    d. kfhj;kh fhe;jp  
 
23. Who was the first English president of Indian National Congress? 

a. Henry cotton.    b. George yule 
c. William Wedderburn  d. A.O Hume 
,e;jpa Njrpa fhq;fpu]pd; Kjy; Mq;fpNyaj;jiyth; _____. 
a. n`d;wp fhl;ld;   b. [hh;[; A+y; 
c. tpy;ypak; ntl;lh;gd;  d. A.O. `pA+k; 

 
24. Match  the following 

A. Lala lajpat Rai   1. Making of the nation  
B. S.N Banerjee      2.Unhappy India 
C. Tilak     3. Hitavada 
D. Gokale     4.Gita Ragasya  
 A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 1 4 3 
d. 2 3 1 4 
 
 
nghUj;Jf. 

 A. yhyh y[gjp uha;  1.  Njrk; cUthf;fk; 



 B. v];. vd;. Ngdh;[p  2. kfpo;r;rpaw;w ,e;jpah 

 C. jpyf;    3. `pj;jhthlh 

 D. NfhfNy   4. fPjufrpak; 

A B C D 
a. 1 2 3 4 
b. 1 3 2 4 
c. 2 1 4 3 
d. 2 3 1 4 
 

25. Consider the following statements 
1. On 5 November 1905 at the initiative of the Dawn society the 

National Council of Education was formed. 
2. In August 1905 Bengal National college and school were formed. 
a. Both 1 and 2 are correct   b. 1 only correct  
c. 2 only correct    d. None of the above are correct.  
fPo;f;fz;l thf;fpaq;fisf; ftdp 
1. 5 etk;gh; 1905y; tpbnts;spf;fofk; Kd;ndLg;ghf Njrpa 

fy;tpf;FO cUthf;fg;gl;lJ. 
2. Mf];L 1905y; tq;fhs Njrpaf; fy;Y}hp kw;Wk; gs;sp 

cUthf;fg;gl;lJ. 
a. 1 kw;Wk; 2 ,uz;Lk; rhp  b. 1 kl;Lk; rhp 
c. 2 kl;Lk; rhp    d. vJTk; rhpapy;iy 

 
26. Who was called as the “ambassador of Hindu Muslim unity”? 

a. Sarojini naidu  b. Mohammed Ali Jinnah  
c. A.C. Mazumdar.  d. Mahatma Gandhi 
“,e;J K];yPk; xw;Wikapd; J}Jth;” vd;W miof;fg;gl;lth; ahh;? 

a. rNuh[pdp ehAL  b. KfkJ myp [pd;dh 

c. A.C. k[_kPjhh;  d. kfhj;kh fhe;jp 
 
27. Which among the following was the first success of Gandhi in his 

homeland? 
a. Champaran satyagraha    b. Kheda satyagraha  
c. Ahmadabad mill strike   d. Bardoli satyagraha  
fPo;f;fz;l epfo;Tfspy; vJ fhe;jpabfshy; jdJ nrhe;jkz;zpy; 
Kjyhtjhf ntw;wpfukhf elj;jg;gl;lJ?  
a. rhk;guhd; rj;ahfpufk;   b. Nfjh rj;ahfpufk; 
c. mfkjhghj; Miy Nghuhl;lk;  d. gh;Njhyp rj;ahfpufk; 

28. Consider the following 



Assertion (A): A satyagrahi had to be at peace with himself and not to 
hate the wrong doer. 
Reason (R): A satyagrahi would willingly accept suffering in the 
course of resistance and hatred had no place in the exercise. 
a. Both are correct and R explains A. 
b. Both are correct and R not explains A 
c. A is correct and R is wrong 
d. A is wrong and R is correct.  
fPo;f;fz;l thf;fpaq;fisf; ftdp. 
$w;W (A): rj;ahfpufp vd;gth; jd;Dld; rkhjhdkhf ,Uf;f Ntz;Lk;; 

jtW  
nra;gtiu ntWf;ff;$lhJ. 

fhuzk; (R): rj;ahfpufp vjph;g;gpd;NghJ Vw;gLk; Jd;gj;ij 
tpUg;gj;Jld; Vw;Wf;nfhs;thh;  
ntWg;gij gapw;rpahff; nfhs;skhl;lhh;. 

a. ,uz;Lk; rhp R vd;gJ A f;F rhpahd tpsf;fk; 
b. ,uz;Lk; rhp R vd;gJ A f;F rhpahd tpsf;fky;y 
c. A rhp kw;Wk; R jtW 
d. A jtW kw;Wk; R rhp 
 

29. Arrange the following in chronological order 
1.Komagatamaru Incident 
2. Return of Gandhi to India from south Africa  
3. Formation of Muslim league 
4. Annulment of partition of Bengal  
a. 3, 4, 2, 1  b. 1, 2, 3, 4  c. 3, 4, 1, 2  d. 3, 1, 4, 2 
fhythpirg;gb epfo;Tfis thpirg;gLj;J. 
1. NfhkflkU epfo;r;rp  
2. njd; Mg;gphpf;fhtpy; ,Ue;J fhe;jp ,e;jpah jpUk;Gjy;. 
3. K];yPk; yPf; cUthf;fk; 
4. tq;fg; gphptpid uj;J nra;ag;gl;lJ. 
a. 3, 4, 2, 1  b. 1, 2, 3, 4  c. 3, 4, 1, 2  d. 3, 1, 4, 2 

 
30. Consider the following statements 

1. Gandhi founded young India a monthly journal.  
2. Annie Besant founded New India a daily newspaper  
3. Madan Mohan Malavia established Benaras Hindu school  
a. 2 and 3 are correct   b. 2 only correct  
c. 1 and 3 are correct   d. All the above are correct  
 
fPo;f;fz;l thf;fpaq;fisf; ftdp. 



1. aq; ,e;jpah vd;w khj ,jo; fhe;jpahy; cUthf;fg;gl;lJ. 
2. epA+ ,e;jpah vd;w jpdrhp ,jo; md;dpngrd;lhy; cUthf;fpg;gl;lJ. 
3. ngdhu]; ,e;Jg;gs;sp kjd; Nkhfd; khstpahy; cUthf;fg;gl;lJ. 
a. 2>3 rhp    b. 2 kl;Lk; rhp   

c. 1 kw;Wk; 3 rhp  d. midj;Jk; rhp 
 
31. Match the following         

A. Paiyampalli   1. Tamil Nadu  
B. Brahmagiri    2. Karnataka  
C. Burzahom    3. Jammu and Kashmir  
D. Sarutaru    4. Assam  
 A B C D 
a. 1 2 3 4 
b.  1 2 4 3  
c. 1 4 3 2  
d. 2 1 3 4 
nghUj;Jf. 
A. igak;gs;sp   1. jkpo;ehL 

B. gpuk;kfphp    2. fh;ehlfh 

C. gh;rhN`hk;   3. [k;K kw;Wk; fh~;kPh; 

D. rUjhU    4. m];]hk; 

 A B C D  
a. 1 2 3 4 
b. 1 2 4 3 
c. 1 4 3 2 
d. 2 1 3 4 

 
32. The Indus valley site of Harappa was first visited by     

a. Alexander Cunningham  b. Charles Mason 
c. R.D. Banarjee     d. Sir John Marshal  
rpe;J rkntsp ,lkhd `ug;ghtpw;F Kjd; Kjypy; tUif je;jth; 
_____ 
a. mnyf;rhz;lh; fd;dpq;fhk; b. rhh;y]; Nkrd; 

c. R.D. ghdh;[p    d. rh;[hd; khh;~y; 
 
33. Which among the following is/ are incorrect?  

1. Khila  - Waste land 
2. Aprahata  -  Waste land 
3. Kara  -  Tax levied on the villagers  
4. Sulka  -  Customs and tolls  



5. Vasti  -  Habitable land 
a. 1, 2 and 5 only b. 5 only  c. 4 and 5 only  d. None  
fPo;fz;l $w;W  / $w;Wfspy; jtwhdJ vJ?  
1. fpyh             - jupR epyk;  
2. mg;u`jh         - jupR epyk;  
3. fuh              - fpuhkj;jpdu; kPJ tpjpf;fg;gl;l tup  
4. Ry;fh            - Rq;f kw;Wk; EioT tup               
5. th];jp           - gapuplf;$ba epyk; 
a. 1, 2 kw;Wk; 5 kl;Lk; b. 5 kl;Lk;  

c. 4 kw;Wk; 5 kl;Lk;  d. vJTkpy;iy  
 
34. The Ellora caves were designated as an UNESCO world Heritage site 

in the year 
a. 1981   b. 1982  c. 1983  d. 1984 
ve;j Mz;L vy;Nyhuh Fiffis cyfg; ghuk;ghpar; rpd;dkhf 
And];Nfh mwptpj;jJ?  
a. 1981   b. 1982  c. 1983  d. 1984 

 
35. The meaning of dhamma is explained in which edict of Asoka? 

a. Pillar Edict II   b. Rock Edict XIII 
c. Rock Edict III  d. Sarnath pillar 
mNrhfhpd; ve;j fy;ntl;by; jh;k Nfhl;ghLfs; tpthpf;fg;gl;Ls;sJ 
a. J}z; fy;ntl;L II  b. ghiw fy;ntl;L – XIII 
c. ghiw fy;nty;L III  d. rhuehj; J}z; 

 
36. Which statement/statements are incorrect among the following 

statements? 
1. The Kushanas belonged to the yueh-chi tribes of china  
2. Kanishka patronized Jainism. 
3. The Hathigumbha Elephant cave inscription speaks about the 

achievements of king kharavela of kalinga 
4. The Gandhara school of art flourished during kanishkas period.  
a. 2 only  b. 2 and 3   c. 1 and 4    d. 1 and 3 
fPo;fz;l ve;j $w;W / $w;Wfs; rhpahdit my;y?  
1. F~hdh;fs; rPdhtpy; cs;s A+r;rp ,dg;goq;Fbapdh.;  
2. fdp~;fh; rkz rkaj;ij Mjhpj;jhh;. 
3. fypq;fj;J fhuNtydpd; ntw;wpiag; gw;wp `jpFk;gh Fif 

fy;ntl;L Fwpg;gpLfpwJ. 
4. fdp~;fh; fhyj;jpy; fhe;jhuh fiy kpsph;e;jJ.  
a. 2 kl;Lk;  b. 2 kw;Wk; 3  c. 1 kw;Wk; 4  d. 1 kw;Wk; 3 



37. The Allahabad Pillar inscription, the main source of information for 
the period of Samudra Gupta was composed by  
a. Kalidasa b. Hari sena  c. Bana d. Varahamihira  
myfhghj; fw;W}z; fy;ntl;L> rKj;jpuFg;jhpd; Ml;rp fhyj;ijg; mwpa 
Kf;fpa rhd;W> mjid njhFj;jth; ahh;?  
a. fhspjhrh; b. `hpNrdh;  c. ghzh; d. tuhfkpfpuh;  

 
38. Among the Gupta kings who earned the tittle of “Kaviraja”? 

a. Sri gupta    b. Chandra gupta I 
c. Samudra gupta   d. Vikramaditya 
Fg;jh;fspd; fhyj;jpy; "ftpuh[d;" vd;w gl;lj;ij ngw;w murh; ahh;?  
a. =Fg;jh;     b. Kjyhk; re;jpuFg;jh;  

c. rKj;jpu Fg;jh;    d. tpf;ukhjpj;ah;  
 
39. Choose the correct statements  

1. Gauthamiputra satakarni was the greatest of the satavahana kings. 
2. The inscription at Nashik mentions Yagnashri satakarni as the 

conquere of the shakas Pahlavas and Yavanas. 
3. King Hala is credited with the writing of Gatha sattasai a collection 

of 700 love poems. 
a. 1,2 and 3  b. 1 and 2   c. 1 and 3  d. 2 and 3 
fPo;fz;l $w;Wfspy; rhpahdJ vJ?  
1. rhjthfd muru;fSs; nfsjkGj;u rjfu;dp  kpfr;rpwe;j muru;;   
2. af;d= rjfu;dp  vd;ghupd; ehrpf; fy;ntl;L rhfu; gfy;tu;> 

atdu;fs; MfpNahiu ,tu; ntw;wpnfhz;ljhf $WfpwJ  
3. rhjthfd muru; `hy  700 fhjw; ghly;fis nfhz;l fhjh 

rg;jrjp vd;w E}iy ,aw;wpdhu; 
a. 1, 2 kw;Wk;  3  b. 1 kw;Wk; 2  c. 1 kw;Wk;  3 d. 2 kw;Wk; 3 

 
40. Match the following:  
         Site      Material 

A. Lothal      1. Steatite 
B. Shortughai    2. Carnelian 
C. South Rajasthan   3. Shell 
D. Nageshwar and Balakot  4. Lapis Lazuli 
  A B C D  
a. 1 2 3  4 
b. 2 4 1 3 
c. 3 2 4  1 
d. 4 1 2  3 



nghUj;Jf. 
efuk;        nghUs; 
A. Nyhj;jy;     1. ];Bl;ill;  

B. ~hu;Lif     2. fhu;dpypad;  

C. njw;F uh[];jhd;   3. rq;F  

D. ehNf~;tu; kw;Wk; ghy;Nfhl; 4. it^upak; 

 A B C D  
a. 1 2 3  4 
b. 2 4 1  3 
c. 3 2 4  1 
d. 4 1 2  3 
 

41. The Chandelas of Bundelkhand are primarily known for temples 
constructed at Khajuraho. Which of the following temple were located 
at Khajuraho? 
1. Kandariya Mahadev Temple  
2. Vishwanatha Temple  
3. Dashavatara Temple 
a. 1 only b. 1 and 2 only  c. 2 and 3 only  d. 1, 2 and 3  
ge;Njy;fe;jpd; re;Njyh;fs; f[{uhN`htpy; Kjd; Kjypy; Nfhapy;fis 
fl;bdh;. gpd;tUtdtw;wpy; f[{uhN`htpy; mike;Js;s Nfhapy;fs; 
ahit? 
1. fe;jhpah kfhNjt; Nfhapy;  2. tp];tehj Nfhapy; 
3. jrhtjhuk; Nfhapy; 
a. 1 kl;Lk;     b. 1 kw;Wk; 2 kl;Lk;  
c. 2 kw;Wk; 3 kl;Lk;   d. 1> 2 kw;Wk; 3 

 
42. Choose the correct statement regarding Iltutmish 

1. He introduced copper and silver tanka the basic coins of the 
Sultanate period 

2. Introduced Elite military slaves (Bandagam)  
a. 1 only  b. 2 only  c. both 1 and 2  d. None  
,y;Jkp~; Fwpj;j $w;Wfspy; rhpahdJ vJ?  
1. mth; Ry;jhd;fspd; fhyj;jpy; mbg;gil ehzaq;fshd jhkpuk; 

kw;Wk; nts;sp lq;fhit mwpKfg;gLj;jpdhh;.  
2. cauLf;F ,uhZt mbikfis mwpKfg;gLj;jpdhh;  
a. 1 kl;Lk;  b. 2 kl;Lk;  c. 1 & 2 ,uz;Lk; d. vJTkpy;iy  

 
 
 
 



43. Choose the correct statements regarding Jizya tax 
1. It’s a Head tax on non Muslims which even the Brahmins were 

compelled to pay 
2. In India Firuz Tughlaq imposed Jizya for first time  
3. It was abolished by the Mughal Ruler Akbar in 16th century 
a. 1 and 2 only  b. 2 and 3 only   
c. Both 1 and 2   d. 1 and 3 only 
[prpah thp Fwpj;j rhpahd thf;fpaq;fisj; Njh;T nra;f.  
1. ,J K];yPk; my;yhjth;fspd; kPjhd jiythp> ,J gpuhkzh;fs; 

$l nrYj;j Ntz;ba fl;lhak; Vw;gl;lJ 
2. ,e;jpahtpy; [prpah Kjy; Kiwahf ngNuh]; Jf;sf;fhy; 

mky;gLj;jg;gl;lJ.  
3. 16Mk; E}w;whz;by Kfyha kd;dh; mf;guhy; ,t;thp xopf;fg;gl;lJ 
a. 1> 2 kl;Lk;  b. 2, 3 kl;Lk;  

c. 1 & 2 ,uz;Lk; d. 1, 3 kl;Lk; 
 

44. What was the original name of Mian Tansen, the best singer of Akbar 
time? 
a. Makaranta Pande  b. Ramtanu Pande 
c. Haridas Pande  d. Swami Haridas 
mf;gh; fhyj;jpy; ,Ue;j Gfo;ntw;w ghlfh; kpahd; jhd; nrd;dpd; 
,aw;ngah; vd;d? 
a. kf;uhz;lh ghz;Nl  b. uhk;jhD ghz;Nl 

c. `hpjh]; ghz;Nl  d. Rthkp `hpjh]; 
 

45. Find out the wrong answer 
a. Mansabdari system was introduced by Akbar 
b. Akbar built Bulandarwaza at Fathepur Sikri 
c. Zabti system was introduced by Akbar 
d. Akbar was known as Salim 
jtwhd thf;fpaj;ij fz;Lgpb 
a. kd;rg;jhhp Kiw mf;guhy; mwpKfg;gLj;jg;gl;lJ 
b. mf;gh; gNjg+h; rpf;fphpapy; Gye;jh;thrh fl;blj;ij fl;bdhh; 
c. [g;jp Kiwia mwpKfg;gLj;jpatu; mf;gu;  
d. mf;gh; ryPk; vd;wiof;fg;gl;lhh; 

 

46. Find out the correct statements about Golkonda Fort 
i. It was constructed by Raja Krishna Dev of Kakatiya dynasty.  
ii. The highest point of this fort is Bala Hisar.  
iii. Aurangzeb laid siege to this fort in 1689.  
iv. Sultan Kali Kutub Khan reconstructed and rechristened the mud 

fort into a granite fort. 



a. i, ii and iii are correct   b. iii and iv are correct  
c. i, ii and iv are correct   d. All the above 
fPo;f;fz;ltw;Ws; Nfhy;nfhz;lh Nfhl;iliag; gw;wp rupahd 
$w;wpidj; Nju;e;njL: 
i. ,f;Nfhl;il fhfj;jpa tk;r muru; uh[h fpU~;z Njt; 

vd;gtuhy; fl;lg;gl;lJ.  
ii. ,f;Nfhl;ilapd; cau;e;j gFjp ghyh `prhu;. 
iii. ,f;Nfhl;ilia 1689-k; Mk; Mz;by; xsuq;frPg; Kw;Wifapl;lhu;. 
iv. Ry;jhd; FypFjg;~hthy; ,f;Nfhl;il fUq;fw;fs; nfhz;L 

Gzuikf;fg;gl;lJ.  
a. i, ii kw;Wk; iii rup    b. iii kw;Wk; iv rup 
c. i, ii kw;Wk; iv rup   d. Nkw;$wpa midj;Jk;  

 

47. Choose the wrongly matched pair/s regarding travellers visit during 
Vijayanagar Kingdom  
i. Ibn Battutah    -  Morocco 
ii. Abdur Razzak   - Persia  
iii. Nikitin     - Portugal  
iv. Domingopaes and Nuniz - Russia  
a. i and ii  b. iii and iv   c. i, ii and iv  d. iii only 
tp[aefu NguuR fhyj;jpy; tUifGupe;j gazpfspy; jtwhf 
nghUe;jpa ,izfisj; Nju;e;njL 
i. ,gd; gJ}jh   - nkhuhf;Nfh 
ii. mg;Ju; urhf;   - ghurPfk; 
iii. epfpbd;    - Nghu;r;Rf;fy; 
iv. Nlhkpq;Nfhga];> E}dp]; - u~;ah 

a. i kw;Wk; ii b. iii kw;Wk; iv  c. i, ii kw;Wk; iv  d. iii kl;Lk; 
 

48. Which of the following statements about Mohammad Gawan is/are 
correct? 
i. The Mohammad Gawan Madrasa is a large library containing a 

collection of 3000 manuscripts situated at Bidar.  
ii. He served as a prime minister under Mohammad I 
iii. He used gun powder in war against the Vijayanagar kings in 

Belgaum 
a. i, ii and iii  b. i and iii  c. i and ii  d. ii and iii  
fPo;fz;l $w;Wfspy; KfkJ fthd; gw;wp rupahdit vit? 
i. KfkJ fthd; kjuhrhit epWtp mjpy; 3000 ifnaOj;J 

E}y;fis itj;jpUe;j ,lk; gPlhu;.  
ii. ,tu; Kjyhk; KfkJtpd; gpujk ke;jpupahfg; gzpahw;wpdhu;  
iii. ngy;fhkpy; tp[aefu muru;fSf;F vjpuhf eilngw;wg; Nghupy; 

ntbkUe;ijg; gad;gLj;jpdhu;.  



a. i, ii kw;Wk; iii b. i kw;Wk; iii c. i kw;Wk; ii  d. ii kw;Wk; iii 
  
49. Choose the correct statements: 

i. Harihara and Bukka of Sangama dynasty laid foundation for 
Vijayanagar empire in 1336.  

ii. Vijayanagar rulers adopted the emblem of Chalukyas the 
Varahas their royal insignia.  

iii. Bahman Shah assumed the title second Alexander on his coins.  
a. i, ii and iii  b. i and ii  c. i and iii  d. ii and iii  
rupahd $w;wpidj; Nju;e;njL: 
i. rq;fktk;r muru;fshd `up`uu; kw;Wk; Gf;fu; 1336-Mk; Mz;L 

tp[aefug; Nguurpid epWtpdu;.  
ii. tp[aefu muru;fs; rhSf;fpaupd; Kj;jpiuahd tuhfd; 

cUtj;ijj; jq;fsJ mur Kj;jpiuahff; nfhz;ldu;  
iii. ghkd;~h jd; ehzaq;fspy; jd;Dila ngaiu ,uz;lhk; 

mnyf;rhz;lu; vd;W nghwpj;Jf; nfhz;lhu;.  
a. i, ii kw;Wk; iii b. i kw;Wk; ii c. i kw;Wk; iii  d. ii kw;Wk; iii  

 
50. Match the following: 

A. Amatya   1. Home Secretary  
B. Summant   2. Commander-in-chief  
C. Sachiv     3. Finance Minister  
D. Nyayadhish  4. Chief Justice  
E. Sari Naubat   5. Foreign Secretary 
 A B C D E 
a. 2 3 1 4 5 
b. 1 2 3 4 5 
c. 3 5 1 4 2  
d. 5 2 3 4 1 
gpd;tUtdtw;iwg; nghUj;Jf: 
A. mkj;ah  1. cs;Jiw nrayu; 

B. Rke;j;   2. jiyikj; jsgjp 

C. rr;rpt;   3. epjp mikr;ru; 

D. epahajp~;  4. jiyik ePjpgjp 

E. rhupnesgj;  5. ntspAwTr; nrayu;  

A B C D E 
a. 2 3 1 4 5 
b. 1 2 3 4 5 
c. 3 5 1 4 2  
d. 5 2 3 4 1 



51. The Turquoise throne is one of the bejewelled royal seats of Persian 
kings described in  
a. Abdul Malik Isami’s Futuh-us-Salatin  
b. Fakhr-ud-din’s Farhang – i- Qawas  
c. Muhammad Shadiabadi’s Miftah – ul – Fuazala 
d. Firdausi’s Shah Nama  
uj;jpdf;fw;fspdhy; ,iof;fg;gl;l mupaiz ghurPf muru;fspd; xU 
rpk;khrdkhf ,Ue;jJ vd __________ Fwpf;fpd;wJ.  
a. mg;Jy; khypf; ,Ryhkpapd; /Gjh c]; ryhjpd; 

b. /gf;fUj;jpd; ft;th]pd; /guq; - , - fth]; 

c. Kfk;kJ ~jpahgjpapd; kp/g;j`_y; /Gth[yh 

d. gpu;njsrpapd; ~hehkh 

 
52. Consider the following pairs: 

Text      Author 
1. Kitab-ul-hind   - Al Biruni 
2. Tabaqat-i-Nasiri  - Minhaj us Siraj 
3. Tarikh-i-Firoz   - Ziauddin Barani 
Which of the following pairs given above is/are correct? 
a. 1 only b. 2 and 3 only  c. 1 and 3 only  d. 1, 2 and 3  
gpd;tUk; ,izfis fUj;jpy; nfhs;f:  
E}y;     E}yhrpupau; 
1. fpjhg;-cy;-`pe;j;  - my; ngUdp 

2. jgfj;-,-erpup   - kpd;̀ [; c]; rpuh[; 

3. jhupf;-,-ngNuh];  - [pahTj;jpd; ghudp 

NkNy nfhLf;fg;gl;Ls;s ,izfspy; vJ /vit rupahdJ? 
a. 1 kl;Lk;   b. 2 kw;Wk; 3 kl;Lk;   

c. 1 kw;Wk; 3 kl;Lk; d. 1, 2 kw;Wk; 3  
 
53. Which Rajput Dynasty inflicted a Crushing defeat on Muhammad 

Ghori at Mt. Abu in 1179 
a. The Chauhans of Ajmer   b. The Chalukyas of Gujarat 
c. The Chandelas of Bundelkhand  d. None of these 
1179y; mG kiyapy; Nfhup KfkJTf;F xU gaq;fuj; Njhy;tpia 
nfhLj;j uh[Gj;jpu tk;rk; vJ 
a. m[;kPupd; nrsfhd;    b. F[uhj;jpd; rhSf;fpau; 

c. ge;Njy;fe;jpd; re;Njyu;fs;  d. ,it VJkpy;iy 
 
 



54. Qutb-ud-din Aibak who reigned for four years, died in 1210 in an 
accident while playing Chaugan (Horse Polo) at 
a. Delhi  b. Agra   c. Lahore  d. Multan 
ehd;F tUlk; Ml;rp Ghpe;j Fj;GjPd; Igf; 1210y; ve;j ,lj;jpy; 
nrsfhd;; (FjpiuNaw;wk;) vDk; tpisahl;bd; NghJ epfo;;e;j xU 
tpgj;jpy; ,we;jhu; 
a. nly;yp  b. Mf;uh  c. yh$u;  d. Ky;jhd;  

 
55. The defeat of Prithviraj Chauhan by Muhammad Ghori in the Second 

Battle of Tarain has been described in several semi-legendary 
accounts, most notably the Prithviraj Raso. The great poem Prithviraj 
Raso was written by  
a. Chandbardai  b. Jayanaka  c. Hari Raja d. Ajayraja II  
,uz;lhk; jnua;d; Nghhpy; gphpj;tpuh[; nrs`hd; Kfk;kJ Nfhhpahy; 
Njhw;fbf;fg;gl;l nra;jpahdJ miu Guhz fijfspy; 
tpthpf;fg;gl;Ls;sJ Fwpg;ghf gphpj;tpuh[; uNrhtpy; Fwpg;gplg;gl;Ls;sJ. 
rpwe;j ftpijahd gphpj;tpuh[; uNrhit vOjpath; ahh;? 
a. re;Jgh;jha; b. [aehfh c. `hp uh[h d. ,uz;lhk; m[a;uh[h 

 
56. With reference to Alvars and Nayanars saints in South India, consider 

the following statements: 
1. They used Tamil for promoting their messages and singing hyms 

in praise of God.  
2. They did not believe in caste-based discrimination prevailing in the 

Hindu society.  
3. The women saints renounced their social obligations and became 

nuns.  
Which of the statements given above is/are correct? 
a. 1 and 2 only b. 1 and 3 only  c. 2 and 3 only d. 1, 2 and 3  
njd;dpe;jpa Mo;thh;fs; kw;Wk; ehad;khh;fs; njhlh;ghd gpd;tUk; 
$w;Wfis Ma;f 
1. mth;fs; jhq;fs; $w tpUk;Gk; nra;jpfis ntspg;gLj;jTk; 

,iwtid Gfo;e;J ghlTk; jkpio gad;gLj;jpdh; 
2. ,e;J rKjhaj;jpy; epyTk; rhjp mbg;gilapyhd ghFghl;bid 

mth;fs; tpUk;gtpy;iy 
3. ngz; Jwtpfs; jq;fs; r%f flikfis iftpl;L 

fd;dpah];jphpfshf khwpdh; 
vJ / vit rhpahd $w;Wfs;? 
a. 1 kw;Wk; 2 kl;Lk;  b. 1 kw;Wk; 3 kl;Lk; 
c. 2 kw;Wk; 3 kl;Lk;  d. 1> 2 kw;Wk; 3 

 



57. In the entire history of the Delhi Sultanate there was only one Sultan 
of Sayyid Dynasty who voluntarily abdicated his throne and moved 
to a small town away from Delhi, where he lived for three full 
decades in contentment and peace. He was 
a. Khizr Khan    b. Mubarak Shah  
c. Muhammed Shah   d. Alam Shah 
nly;yp Ry;jhdpa Ml;rpapd; xl;Lnkhj;j tuyhw;wpy; Ml;rp chpikiaj; 
jhkhfNt Jwe;J> jpy;ypf;F ntspNa xU rpwpa efUf;F nrd;W> 
KOikahf Kg;gJ Mz;Lfs; kdepiwNthLk; mikjpahfTk; tho;e;j 
xNu Ry;jhd; ra;apj; tk;rj;jpy; te;j _____ Mthh; 

a. fprph; fhd;   b. Kghuf; ~h  

c. Kfk;kJ ~h   d. Myk; ~h 

 
58. Name the Muslim Governor of Madurai who declared himself 

independent from the Delhi sultan in 1335 
a. Malik Kafur     b. Alauddin Khalji   
c. Muhammed Adil Shah   d. Jalaluddin Asan Shah 
1335 Mk; Mz;L nly;yp Ry;jhdplkpUe;J jd;id jhNd muruhf 
mwptpj;Jf;nfhz;l kJiuia Mz;l K];yPk; kd;du; ahu;? 
a. khypf;fhG+u;      b. my;yhTjpd; fpy;[p  

c. Kfk;kJ mby; ~h   d. [yhYjPd; mrhd; ~h 
 
59. Consider the following statements: 

1. The original height of Qutb Minar was 72 meters 
2. It was started by Qutb – ud – din Aibak and completed by 

Iltutmish 
3. Its height was increased to 74 metres when repair carried out by 

Firuz Shah Tughlaq. 
4. The Minar is facilitated by 369 steps. 
Which of the statements given above is/are correct? 
a. 1, 2 and 3   b. 2 and 3   c. 2, 3 and 4  d. 2 only 
gpd;tUk; $w;Wfis Ma;f 
1. FJg;kpdhupd; cz;ikahd cauk; 72 kPl;lu;fs; MFk;. 
2. mJ Fj;GjPd; Ingf;fhy; fl;l njhlq;fg;gl;L ,y;Jkp~hy; 

Kbf;fg;gl;lJ 
3. ,J gpNuh~;~h Jf;sf;fhy; Gzuikf;fg;gl;l gpwF ,jd; cauk; 74 

kPl;lu;fshf cau;e;jJ  
4. FJg;kpdhu; 369 gbfis nfhz;L mikf;fg;gl;lJ. 
rupahd $w;Wfis fz;lwpf 
a. 1> 2 kw;Wk; 3  b. 2 kw;Wk; 3 c. 2, 3 kw;Wk; 4   d. 2 kl;Lk; 

 



60. Pick out the wrong statement about Renaissance. 
a. Renaissance is an ideological and cultural phenomenon. 
b. The basic inspiration of renaissance is modernism. 
c. It is closely tied to rationalism, modernity and progressive 

movement of society. 
d. None of these. 
kWkyh;r;rp gw;wpa jtwhd $w;iwj; Njh;e;njL 
a. kWkyh;r;rp vd;gJ fUj;J kw;Wk; fyhr;rhu epfo;T 
b. kWkyh;r;rpapd; mbg;gil J}z;Ljy; etPdj;Jtk; / etPdkahjy; 
c. ,J r%fj;jpd; gFj;jwpT> etPdk; kw;Wk; Kw;Nghf;F ,af;fj;Jld; 

neUf;fkhf gpizf;fg;gl;Ls;sJ 
d. Nkw;fz;l VJkpy;iy 
 

61. Match the following 
A. Periyar     1. Vaikom Struggle 
B. George Joseph   2. Thatha 
C. Rettaimalai Srinivasan  3. Chitraputtiran 
  A B C 
a. 1 2 3 
b. 1 3 2 
c. 3 1 2 
d.  2 1 3 

 nghUj;Jf 
 A. nghpahh;     1. itf;fk; Nghuhl;lk; 

 B. [hh;[; N[hrg;    2. jhj;jh 

 C. nul;ilkiy rPdpthrd;  3. rpj;uGj;jpud; 

  A B C 
 a. 1 2 3 
 b. 1 3 2 
 c. 3 1 2 
 d.  2 1 3 

 
62. Consider the statements about “Rousseau of Tamilnadu”. 

I. He asserted “caste means you accept superstitious beliefs”. 
II. He formed Rationalists forums. 
a. I only true b. II only true c. Both true  d. Both false 
jkpo;ehl;bd; &Nrh Fwpj;j gpd;tUk; $w;Wfis ftdp. 
I. “rhjp vd;gJ eP Vw;Wf; nfhz;l %lek;gpf;if” vd typAWj;jpdhh;. 

II. ,th; gFj;jwpTthjpfspd; kd;wj;ij cUthf;fpdhh;. 

a. I kl;Lk; rhp b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 



63. Consider the statements about “Founder of Adi Dravida Mahajana 
Sabha”. 
I. He became the first elected Legislative Council member from 

depressed classes in Madras province. 
II. He advocated the use of terms such as Adi-dravida and Adi-

Andhra. 
a. I only true b. II only true c. Both true  d. Both false 
“Mjp jpuhtpl kfh[d rigia cUthf;fpath;” gw;wpagpd;tUk; 
$w;Wfis ftdp. 
I. ,th; nkl;uh]; khfhzj;jpd;> jho;j;jg;gl;lth;fspd; Kjy; 

Njh;e;njLf;fg;gl;l rl;lNkyit cwg;gpdh;. 
II. ,th; Mjpjpuhtpl kw;Wk; Mjp Me;jpuh nrhw;fis gad;gLj;j 

thjpl;lhh;. 
a. I kl;Lk; rhp b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 

 
64. Consider the statements about M.C.Rajah. 

I. He Vehemently opposed Poona pact. 
II. Because, he insisted for separate electorate not for joint electorates 

as given in the Poona pact. 
a. I only true b. II only true c. Both true  d. Both false 

 M.C. uh[h gw;wpa gpd;tUk; $w;Wfis ftdp. 
I. ,th; G+dh xg;ge;jj;ij fLikahf vjph;j;jhh;. 
II. Vndd;why;> ,th; G+dh  xg;ge;jj;jpy; cs;sJ Nghy; $l;L 

thf;fhsh; njhFjp ,y;yhky;> jdp njhFjpia typAWj;jpdhh;. 
a. I kl;Lk; rhp b. II kl;Lk; rhp c. ,uz;Lk; rhp   d. ,uz;Lk; jtW 

 
65. Consider the statements about “Rosaappu Durai”. 

I. He helped Harvey mill workers to set up Madurai Labour union. 
II. He led the Vaikom Satyagraha in Kerala. 
a. I only true b. II only true c. Both true  d. Both false 
“Nuhrhg;g+ Jiu” gw;wpa gpd;tUk; $w;Wfis ftdp 
I. ,th; “kJiu njhopyhsh; rq;fj;ij” mikf;f `hh;tp kpy; 

gzpahsh;fSf;F cjtpdhh; 
II. ,th; Nfushtpy; itf;fk; rj;jpafpufj;jpw;F jiyik jhq;fpdhh; 
a. I kl;Lk; rhp b. II kl;Lk; rhp c. ,uz;Lk; rhp d. ,uz;Lk; jtW 

 
66. Who considered that Independence Prior to Socio – Cultural equality 

would be injurious to Tamil interests? 
a. Maraimalai Adigal  b. Thiru Vi. Ka 
c. Anna    d. Periyar 



Rje;jpuj;jpw;F Kd; r%f fyhr;rhu rkj;Jtj;jpw;F Kd; Rje;jpuk; jkpo; 
eyd;fSf;F jPq;F tpistpf;Fk; vd;W $wpath; ahh;? 
a. kiwkiy mbfs;  b. jpU.tp.f 
c. mz;zh    d. nghpahh; 

 
67. Who served as the secretary of Madurai Harijana Sevak Sangh? 

a. Vaidyanathar   b. C. Swaminathar 
c. Sardar Vedarathnam d. L.N. Gopalsamy 
kJiu `hp[d Nrth rq;fj;jpd; nrayhsuhf gzpahw;wpath; ahh;? 
a. itj;jpaehjh;   b. C. Rthkpehjh; 
c. rh;jhh; Ntjuj;jpdk;  d. L.N. NfhghyRthkp 

 
68. India’s first organised trade union, the Madras Labour Union was 

formed in __________ 
a. 1918  b. 1917  c. 1916  d. 1914 
,e;jpahtpd; Kjy; Kiwrhh; tpahghuf; $l;likg;ghd> nrd;id 
njhopyhsh; $l;likg;G cUthf;fg;gl;lJ. 
a. 1918  b. 1917  c. 1916  d. 1914 
 

69. A book on the history of Tamil Music was published by 
a. Abraham Pandithar  b. Swaminathar 
c. Maraimalai Adigal   d. Subramania Bharathi 
jkpopirapd; tuyhW vd;w Gj;jfj;ij ntspapl;lth; ahh;? 
a. Mgpufhk; gz;bjh;   b. Rthkpehjh; 
c. kiwkiy mbfs;   d. Rg;ukzpa ghujp 
 

70. Consider the following 
Assertion (A): Tamil regained its prominence in the latter half of the 
nineteenth and early twentieth century 
Reason (R): Maraimalai Adigal’s pure Tamil movement, the language 
reforms of Periyar and Tamil Isai Movement helped to galvanise the 
Tamil Language 

a. A is correct, but R is not the correct reason 
b. Both A and R are wrong 
c. A is wrong and R has no relevance to A 
d. A is correct and R is the correct explanation 

fPo;f;fz;l thf;fpaq;fisf; ftdp. 
$w;W (A): gj;njhd;gjhk; E}w;whz;bd; ,Wjp fhyj;jpYk;> ,Ugjhk; 

E}w;whz;bd;  



Jtf;fj;jpYk; jkpo; kPz;Lk; mjd; Kf;fpaj;Jtj;ijg; 
ngw;wJ. 

fhuzk; (R): kiwkiy mbfspy; J}a jkpo; ,af;fk;> nghpahhpd; 
nkhop rPh;jpUj;jk; kw;Wk; jkpopir ,af;fk; %d;Wk; 
,ize;J jkpo; nkhopia nkUNfw;wpaJ. 

a. A rhp Mdhy; R rhpahd tpsf;fk; my;y. 
b. A kw;Wk; R ,uz;Lk jtW. 
c. A jtW kw;Wk; R vd;gJ A rhpahd njhlh;G my;y. 
d. A rhp kw;Wk; R vd;gJ A f;F rhpahd tpsf;fk;. 
 

71. Match the following 
A. Dravidian Home   1. Maraimalai Adigal 
B. Thozhilalan    2. Rettaimalai Srinivasan 
C. Tani Tamil Iyakkam  3. Singaravelar 
D. Jeeviya Saritha Surukkam 4. Natesanar 
 A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 4 1 2 3 
d. 1 2 3 4 
nghUj;Jf. 
A. jpuhtpl ,y;yk;   1. kiwkiy mbfs; 
B. njhopyhsd;    2. nul;ilkiy rPdpthrd; 
C. jdpj;jkpo; ,af;fk;   3. rpq;fhuNtyh; 
D. [Pt rhpj RUf;fk;   4. eNlrdhh; 

A B C D 
a. 4 3 1 2 
b. 4 3 2 1 
c. 4 1 2 3 
d. 1 2 3 4 
 

72. Rettaimalai Srinivasan popularly known as Grandpa (Thatha) was 
born at __________ 
a. Arakonam  b. Kanchipuram  
c. Thiruvallur  d. Chennai 
nul;ilkiy rPdpthrd; gpugykhf jhj;jh vd mwpag;gl;l ,lk; 
a. muf;Nfhzk;  b. fhQ;rpGuk; c. jpUts;@h;  d. nrd;id 
 

73. Who collected and edited Palm- leaf manuscripts of “Culamani”? 
a. U.V. Swaminathar  b. Parithimar Kalaignar 
c. C.W. Damotharanar  d. S. Vaiypuri 



“Fykzp” -d; gid Xiy ifnaOj;Jg; gpujpfis Nrfhpj;J jpUj;jk; 
Nkw;nfhz;lJ ahh;? 
a. U.V. Rthkpehjh;   b. ghpjpkhw; fiyQh; 

c. C.W. jhNkhjudhh;   d. S. itahGhp 
 

74. Consider the following statements 
Assertion (A): Tamilnadu’s legacy of social justice owes its existence 
to the formative years of Justice party. 
Reason (R): The Justicites broke the barriers that prevented depressed 
classes from use of public wells and tanks. 
a. A and R true, R is correct explanation of A. 
b. A and R true, R is not correct explanation of A. 
c. A is true, R is false 
d. A is false, R is true. 
gpd;tUk; $w;wfis Ma;f 
$w;W (A): ePjpf;fl;rp cUthd fhyq;fspy; r%f ePjpapd; kuG Kf;fpa 
gq;F tfpj;jJ 
fhuzk; (R): ,e;j ePjpf;fl;rp jilfis cilj;J jho;j;jg;gl;l kf;fs; 
nghJ fpzW kw;Wk; ePh; njhl;bfspy; jz;zPh; vLf;f cjtpaJ 
a. A kw;Wk; R rhp> NkYk; R MdJ Atpw;F rhpahd tpsf;fk; 

b. A kw;Wk; R rhp> NkYk; R MdJ Atpw;F rhpahd tpsf;fky;y 

c. A rhp> R jtW 
d. A jtW> R rhp 
 

75. Who was the founder of ‘Potu Nilaik Kalakam’? 
a. Neelambikai  b. P. Sundarnar 
c. Thiru. Vi. Ka  d. Maraimalai adigal 
‘nghl;L epiyf; fofj;ij” epWtpath; ahh;? 

a. ePyhk;gpif  b. P. Re;judhh; 
c. jpU.tp.f   d. kiwkiy mbfs; 

 

76. The present age of Raji is 42 
6

7
% of Sai present age, if the sum of thier 

present ages is 70 years, find out the difference between their present 
ages?  

uh[papd; jw;Nghija taJ rhapd; jw;Nghija tajpy; 42
6

7
% MFk;. 

,Uthpd; taJfspd; $Ljy; 70 tUlq;fs;> vdpy; jw;Nghija tajpy; 
,UtUf;Fk; ,ilNa Md tpj;jpahrk; vd;d?  
a. 24   b. 28   c. 30   d. 25 

   



77. A Father said to his son, "I was as old as you are at the present at the 
time of your birth. If the father's age is 62 years. now, the son's age 6 
years back was:  
je;ij kfdplk; $wpajhtJ> ',d;W cd; taJ vd;dNth> me;j taJ 
eP gpwe;jnghOJ vdf;F" vd $wpdhh;. je;ijapd; jw;Nghija taJ 
62 vdpy; 6 tUlj;jpw;F Kd;G kfdpd; taJ vd;d?  
a. 25   b. 24   c. 32   d. 30 

  

78. The ages of Sowmiya and Lavanya  are in the ratio 2 : 3 After 12 years, 
their ages will be in the ratio 11:15.  The age of Sowmiya is 
nrskpah kw;Wk; yhtz;ah Mfpa ,Uthpd; taJfspd; tpfpjk; 2:3.  
12 Mz;LfSf;F gpwF mth;fspd; taJ tfpjk; 11:15 vdpy; 
nrskpahtpd; taJ 
a. 32 years  b. 42 years  c. 48 years  d. 56 years 
 

79. The ratio of the ages of the father and the son at present is 19:5.  After 
4 years the ratio will become 3:1.  What is the sum of the present ages 
of the father and the son? 
jfg;gd; kw;Wk; kfDila jw;Nghija tajpw;fpilNaahd tpfpjk; 
19:5. 4 tUlq;fSf;F gpwF mth;fspd; taJ 3:1 vd;w tpfpjk; 
vd;why; ,Uthpd; jw;Nghija tajpd; $l;Lj;njhif fhz;f. 

 a. 40   b. 42   c. 48   d. 52 
    
80. The sum of the ages of brother and sister at present is 21. Five years 

ago the product of thier ages was 28. What is the ages of the brother 
and the sister?  
rNfhjud; kw;Wk; rNfhjhpapd; tajpd; $Ljy; 21. Ie;J tUlq;fSf;F 
Kd;G mth;fspd; tajpd; ngUf;fy;gyd; 28. rNfhjud; kw;Wk; 
rNfhjhpapd; taJ vd;d?  
a. 9, 12  b. 6, 15  c. 7, 14   d. 8, 13 
 

81. If Ram is 50 years old and his son is 10 years old then the simplest 
ratio between the age of Ram to his son is 
uhk;; taJ 50 kw;Wk; mtuJ kfdpd; taJ 10 vdpy; uhk; kw;Wk; 
mtuJ  kfdpd; taJf;fhd tpfpjj;jpd; vspa tbtk; 

 a. 10 : 50  b. 50 : 10  c. 5 : 1  d. 1 : 5 
     

82. The sum of the present ages of A and B is 68 years. Four years ago, 
their ratio of ages of A and B 17 : 13 respectively. Find out sum of thier 
ages 6 years hence?  
a. 77   b. 84   c. 80   d. 90   
 



A kw;Wk; B d; jw;Nghija tajpd; $Ljy; 68 tUlq;fs;. 4 
tUlq;fSf;F Kd;G mth;fspd; taJ tpfpjq;fs; 17 : 13 vdpy; MW 
tUlq;fSf;F gpwF mth;fspd; tajpd; $Ljy; vd;d?  
a. 77   b. 84   c. 80   d. 90   

 
83. The mean of 5 numbers is 18. If one number is excluded, their mean is 

16. Find the excluded number.  
5 vz;fspd; ruhrhp 18. xU vz; tpyf;fg;gl;lhy; mtw;wpd; ruhrhp 16. 
tpyf;fg;gl;l vz;iz fz;lwpaTk;.  
a. 25   b. 26   c. 27   d. 28   
 

84. Mean of 100 observations is found to be 40. At the time of 
computation two items were wrongly taken as 3 and 72 instead of 30 
and 27. Find the correct Mean. 
100 vz;fspd; ruhrhp 40 vd;W fhzg;gl;lJ.  fzf;fpLk; Neuj;jpy; 30 
kw;Wk; 27 vd;w ,U tptuq;fs; 3 kw;Wk; 72 vdj;jtWjyhf 
vLj;Jf;nfhs;sg;gl;lJ njhpa te;jJ vdpy; rhpahd ruhrhpiaf; 
fhz;f. 

 a. 39.82    b.  40.18  c. 41   d. 42.5 
   

85. Out of 9 persons, 8 persons spent Rs 30 each for their meals. The ninth 
one spent Rs 20 more than the average expenditure of all the nine. The 
total money spent by all of them was: 
9 egh;fspy;> 8 egh;fs; cztpw;fhf jyh & 30 nryT nra;fpd;wdh;. 
xd;gjhtJ egh; midtuJ ruhrhp nryit tpl & 20 mjpfk; 
nrytpLfpd;whh;. vdpy; mth;fs; nrytpl;l nkhj;j njhif vt;tsT?  
a. Rs 282.50 b. Rs 292.50 c. Rs 302.50  d. Rs 312.50 
 

86. The average weight of 8 persons increases by 2.5kg when a new 
person comes in place of one of them weighing 65kg. What might be 
the weight of the new person? 
8 egh;fspd; ruhrhp vil 65 fp.fp nfhz;l xUtUila ,lj;jpy; 
Gjpjhf xUth; Nrh;fg;gLk; nghOJ 2.5 fpfp mjpfhpf;fg;gLfpwJ vdpy; 
Gjpjhf Nrh;f;fg;gl;l eghpd; vil vt;tsT?  
a. 76kg  b. 76.5kg  c. 85kg  d. Data inadequate 
 

87. The average of first 17 even number is  
Kjy; 17 ,ul;il vz;fspd; ruhrhp  
a. 19   b. 17   c. 18  d. 17.5  
 



88. The average of five consecutive odd numbers is 97. What is the fourth 
number in the ascending order? 
njhlh;r;rpahf Ie;J xw;iwg;gil vz;fspd; ruhrhp 97. VW thpirapy; 
ehd;fhk; vz; vd;d?  
a. 91   b. 95   c. 99  d. 97 
  

89. The average height of 10 students in a class was calculated as 166 cm. 
On verification it was found that one reading was wrongly recorded 
as 160 cm instead of 150 cm. Find the correct mean height.  
xU tFg;gpYs;s 10 khzth;fspd; ruhrhp cauk; 166 nr.kP vdf; 
fzf;fplg;gl;lJ. jfty;fisr; rhpghh;f;Fk;NghJ xU kjpg;G 150 
nr.kP.f;F gjpyhf 160 nr.kP vd;W jtWjyhf Fwpg;gplg;gl;lJ 
fz;Lgpbf;fg;gl;lJ vdpy; rhpahd ruhrhp cauj;ijf; fhz;f.  
a. 175 cm  b. 165 cm  c. 155 cm   d. 160 cm  

    

90. The mean of 10 observations is 24. Find the sum of the 10 
observations. 
10 tptuq;fspd; ruhrhp 24 vdpy;> mt;tptuq;fspd; $l;Lj;njhifiaf; 
fhz;f. 
a. 230  b. 240  c. 120   d. 480 

  

91. One year ago a man was 8 times as old as his son. Now his age is 
equal to the square of his son's age. Find the present age of the son.  
xU tUlj;jpw;F Kd;G je;ijapd; tajhdJ kfdpd; taijg; Nghy 8 
klq;fhFk;. jw;Nghija je;ijapd; taJ kfDila tajpd; 
th;f;fj;jpw;Fr; rkk; vdpy; kfdpd; jw;Nghija taJ vd;d?  
a. 9   b. 8   c. 7   d. 6 
 

92. An equivalent ratio of 7 : 4 is   
7 : 4 ,d; rkhd tpfpjkhdJ  
a. 1 : 3  b. 15 : 8  c. 21 : 12   d. 14 : 18  
 

93. Which is not an equivalent ratio of 
9

12
 ?  

vJ
 

9

12
f;F rkhd tpfpjk; my;y?  

a. 
3

4
   b. 

6

8
   c. 

10

15
   d. 

18

24
 

 

94. I have a box which has 3 green, 9 blue, 4 yellow, 8 orange. coloured 24 
cubes in it. How many different ratios can be formed, when you 
compare each colour to any one of the other colours?  



vd;dplKs;s xU ngl;bapy; 3 gr;ir> 9 ePyk;> 4 kQ;rs;> 8 MuQ;R vd 
24 tz;zf; fdr; rJuq;fs; cs;sd. vdpy; xU tz;zj;ij kw;w 
tz;zq;fNshL xg;gpl;L vj;jid tpfpjq;fs; fhzyhk;?  
a. 16 ratios  b. 20 ratios   c. 12 ratios   d. 8 ratios  
  

95. The prices of a mobile and a Laptop are in the ratio 7: 5. If the mobile 
costs 4000 more than Laptop, then the price of Laptop is  
xU ifNgrp kw;Wk; xU kbf;fzpdpapd; tpiyapd; tpfpjk; 7 : 5 
ifg;Ngrpapd; tpiy> kbf;fzpdpapd; tpiyia tpl & 4000 mjpfk; 
vdpy;> kbf;fzpdpapd; tpiy vd;d?  
a. Rs. 10,000 b. Rs. 8,000 c. Rs. 16,000 d. Rs. 21,000  
 

96. If 
4 5 6

A B C
= =   then A : B : C  

4 5 6

A B C
= =  vdpy; A : B : C I fz;lwpf.  

a. 4 : 5 : 6  b. 6 : 5 : 4  c. 3 : 2 : 1   d. 1 : 2 : 3  
 

97. If x : y = 3 : 2; (8x + 8y) : (8x + 2y) is  
x : y = 3 : 2 vdpy; (8x + 8y) : (8x + 2y) fhz;f.  

a. 10 : 7   b. 7 : 10  c. 3 : 2   d. 2 : 3  
 

98. A has Rs 2200 and wants to divide it between B and C in the ratio, 5 : 
6. Then find the share of C? 
A – tplk; & 2200 cs;sJ. mjid B kw;Wk; C-f;F ,ilapy;  5 : 6 
vd;w tpfpjj;jpy; gfph;e;jspf;fpwhh;. vdpy; 'C' Tila gq;if fhz;f?  

a. Rs. 1800  b. Rs. 2000   c. Rs. 1000  d. Rs. 1200 
 

99. In a school having total students 286, the ratio of boys and girls is 8 : 5. 
If 22 more girls get admitted into the school, the ratio of boys and girls 
become.  
a. 4 : 3  b. 3 : 4  c. 5 : 6   d. 6 : 5  
xU gs;spapy; cs;s nkhj;j khzth;fspd; vz;zpf;if 286 mjpy; 
cs;s Mz;fs; kw;Wk; ngz;fspd; tpfpjk; 8 : 5. NkYk; Gjpjhf 22 
ngz;fs; mg;gs;spapy; NrUk;nghOJ Mz;fs; kw;Wk; ngz;fSf;fhd 
tpfpjk; fhz;f.  
a. 4 : 3  b. 3 : 4  c. 5 : 6   d. 6 : 5  
 

100. In the ratio a% of b to b% of a, its fraction value is equal to  

a. 
1

ab
   b. ab   c. 

a

b
   d. 1 

b-d; a% f;Fk;> a– d; b% ,ilNa Md tpfpj gpd;dj;jpd; kjpg;G  

a. 
1

ab
   b. ab   c. 

a

b
   d. 1 


